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Warning and Disclaimer

Every effort has been made to make this book as complete and as accurate as possible, but no warranty
or fitness is implied. The information provided is on an "as is" basis. The author and the publisher shall
have neither liability nor responsibility to any person or entity with respect to any loss or damages arising
from the information contained in this book or from the use of the CD or programs accompanying it.

When reviewing corrections, always check the print number of your book. Corrections are made to printed
books with each subsequent printing. To determine the print number of your book, view the copyright
page. The print number is the right-most humber on the line below the "First Printing" line. For example,
the following indicates that this is the 1% printing of this title and it was printed in May 2003.
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The following apply to the first two printings of the book

Pg | Error Correction

205 | First line of code:
Interface type .subinterface point-to-point | Interface type.subinterface point-to-point

257 | Answer to number 45:
45. A and D 45. Aand C




295 | Answer to number 14:
14. B, D 14. A,B
321 | Last two choices for Question 24:
C. copy tftp start-config C. copy tftp startup-config
D. copy start-config tftp D. copy startup-config tftp
337 | Answer to number 45:
45. Cand D 45. C
349 | First and fourth line of number 45:

Answers C and D are correct because...
Answers A and B are incorrect because...

Answer C is correct because...
Answers A, B, and D are incorrect because...

The following apply to the first three printings of the book

Pg | Error Correction

25 Question 6 answer, last two sentences:
Answers C and A are incorrect because they do not | Answers C and D are incorrect because they do not
have three octets or 48 bits. Answer A is a valid have six octets or 48 bits. Answer A is a valid
TCP/IP address but again, does not have three TCP/IP address but again, does not have six octets
octets or 48 hexadecimal bits required by a MAC or 48 bits required by a MAC address.
address.

39 Second full paragraph, first sentence:

You are already familiar with at least one routing
protocol named IP, ...

You are already familiar with at least one routable
protocol named IP, ...




215 | First paragraph, last sentence through sentence Should read:
preceding syntax line:

Therefore, the value must be exactly the same as
specified in the IP address.
Once you have identified the correct access list you
are going to apply to your routers interface, you
then need to apply it with the following syntax:

224 | Question 2, answer:

The correct answer is A. Flash memory contains
the IOS images used by the router. If no image
resides in Flash memory, the image in ROM will be
used. NVRAM and RAM contain the backup
configuration and active configuration files,
respectively. Therefore, answers B and C are
incorrect. Interfaces provide the network
connections for the router. Therefore, answer D is
incorrect.

The correct answers are A and C. Flash memory
and RAM contain the IOS images used by the
router. If no image resides in Flash memory, the
image in ROM will be used. NVRAM contains the
backup configuration and active configuration files,
respectively. Therefore, answer B is incorrect.
Interfaces provide the network connections for the
router. Therefore, answer D is incorrect.

This errata sheet is intended to provide updated technical information. Spelling and grammar misprints
are updated during the reprint process, but are not listed on this errata sheet.



